e CEREL ER R E

St

i

H 3 o]
TTE-’] TH

o2 thehiE AL AY AANAL o, 2

g AlrE?




A ax+by =17

51

[e]

St
]_

Al

[e)

= x, yol of

tolet. (a, b

S

=

Fo me

0|

=
=

x+1

y-2& %

3

<
7AO
J

_ZF_

o
=

o, a, b2 Gt

.

0l 1

A A



3. x?-2ax+2a+3 < 35 WEHSkE 17t Y= k= A a9 st

@ 174 @ 374 @ 570 @ 770 ® 974



4. %7 A(4,-3),B(a,3) Aole] A=I7F6v2 & W, ¥4 a O] 322

@ 6 @7 ® 8 @ 9 ® 10



T y=x3 9 M2 2 Al H A,B,CY] x5&
gtth Al A AB,C7F 424 flol 2 o, b=
Ao

D a+b+c=0 @ a+b+c=1 @ abc=1

@ a+c=2b ® ac = b?



6. FHG+1)2+yP=1x2+y*’-6x-6y+2=029 FF5HA9

@ 074 @ 174 @ 270 @ 37 ® 47



S BAga—a-2%pB=5+bio] ste] a—f = 3T 22 UEse
NE 4 ek S, at bO] S



xoﬂ EH?J’ OV‘]"%}@Q x2+ax—|—b:094 ?l—IZ_Lo] 1+i<321 }é]—/F a.b
o] #= otofet.



9. a4 b7FHEFL W, x =1+ V27F 2% - 3x2 4 ax + b = 0] 2]
=t o] w, 42 + b2 9] ZHS F5hoiet,

D L
=%



—x—-y+az=1

1



Xy =

Felzt.

S



12.

A 09 A A3, 6)2 o] AE 0AE 2:
)

AR OPE2: 1 2 2JEst=
7=E Fsha?

5 L
=

]
™

o
=

HE&P
Aol 9]



13.

Tl FEder ol A A y = 2x +k
7t M=z ohE F Aol whr] 19t k9

e Mel=?
D -12<k<-2 @ -1l1<k<-1 ® -10<k<0
@ -9<k<1 ® -8<k<3



14.

Y +y* =40 7

o] gel W9

Da<1
@ a<242

ol



O1ZFA] 2x% 4 xy -y —x+ 2y +k 7} x,y ol tiet &

@ -2

® -3

@ -4

® -5

244

9]






17.

A(=V2, 0), B(V2, 0) 7} 9tk 27 2PA° -PB° =9 &

171= A P(x, y) & AF= ol o] ¥o] ¥R 527

@ 3 ® 4 @ 5 ® 6



18.

I ofN
0,
rr

3} A2 919 1es} 2
2A L, by, e, s =
ot oA 2] 94 T
7Rel ol = 54 1 A, o A

=

o lo
A N o

K
ot 1o O mju X,

F

% [e)
HH2]

Rl oag S K1 oofk
ot 1
o

© 2] o L

® 5 Hj

14 lZ

15 ll

ls

® 35 HY



19.

|y
=
9

_;:q

o9

B

Ch

SHA]

o
ar
o

x) = (x=1)(x+1)(x+2), g(x) = 2x3 - (a+2)x*> —ax+2a
o7k o)At Alolet. A4 a©] 2 Ftelet

.a=



20. X +y* =49 HP(x, y) & F 4 A0, —-4), B(3, 0) & 0] F]
2= APAB 9| §ol9] Higte?

® 10 @ 11 3 12 @ 13 & 14



